
CHASSIS AND GENERAL PARTS 
PRO KITS

BARKO  HYDRAULICS, LLC  |  715-395-6700  |  PARTS@BARKO.COM  |  WWW.BARKO.COM 

BARKO builds our machines on the toughest, most durable chassis on the market. Keep 
that foundation strong with our Chassis and General Parts Pro Kits. We package up 
everything needed for routine maintenance on BARKO 295B, 495B or 595B loaders. From 
paint and lighting to various nuts, bolts and clamps, these kits make the job easier.  

re
v.

 5
/2

3/
20

22



CHASSIS AND GENERAL PARTS  
PRO KITS

279-00038 MI RAILING REPLACEMENT KIT 
COMPONENTS

MODELS: 295B, 495B. 595B

Quantity Part Number Description

1 163-12336 Painted Tube Railing Side

1 163-12335 Painted Tube Railing Front

1 539-01275
Paint- Aerosol BARKO/PTL 
Black

953-00940 LOADERS CAB LIGHTS LED KIT 
COMPONENTS

MODELS: 295B, 495B, 595B

Quantity Part Number Description

2 536-06684   
Painted Loaders  
Cab Light Cover

6 548-04130   Led Work Lamp- Flood, Grote

2 536-06688   
Painted Loaders  
Cab Light Cover Hole

2 548-05085   Grommet 0.25 Id X 0.50 Od

1 921-00027   Kit El Ml Cab Led

8 514-01347   
Screw Ph  
10-24x.625 Thread Cut

4 510-01000   
Bolt Hex Head  
0.375 16nc 1.000 G8 Yellow Zinc

8  514-00160   
Washer-flat  
3/8 Sae Yellow Zinc Heavy Duty

4 513-01029   
Nt Nylock 0.375 16nc G8  
Yellow Zinc

BARKO  HYDRAULICS, LLC  |  715-395-6700  |  PARTS@BARKO.COM  |  WWW.BARKO.COM 

re
v.

 5
/2

3/
20

22



CHASSIS AND GENERAL PARTS  
PRO KITS

BARKO  HYDRAULICS, LLC  |  715-395-6700  |  PARTS@BARKO.COM  |  WWW.BARKO.COM 

953-00954 AY BOOM LIGHT KIT COMPONENTS

MODELS: 295B, 495B, 595B
YEARS OF FITMENT: ALL WITH ‘TAPPED BLOCK’  
STYLE BOOM MOUNTING, NOT AN UPGRADE  
FOR 2020+ LATER

Quantity Part Number Description

2
131-01272-

F01   
Painted Tube  
Boom Light Guard

2 548-05379   Light Led

4 512-01242   
Washer-flat 7/16 Yellow Zinc 
Heavy Duty

4 512-01187   
Bolt Hex Head  
0.437 14nc 0.750 G8 Yellow Zinc

2 548-01074   Clamp Ins 3/8

2 512-01134   
Bolt Hex Head  
0.250 20nc 0.750 G8 Yellow Zinc

1 954-01580   Harness Ml Boom Lights Led

2 513-01065   Flange Nut Lk M10 1.5 Zinc

953-00968 AY BOOM CLAMP KIT COMPONENTS

MODELS: 295B, 495B, 595B
SUBMODELS: ALL WITH ‘TUBE CLAMP’ STYLE  
BOOM MOUNTING, NOT AN UPGRADE  
FOR 2020+ AND LATER

Quantity Part Number Description

2
131-01272-

F01   
Painted Tube  
Boom Light Guard

2 548-05379   Light Led

3 512-01187   
Bolt Hex Head  
0.437 14nc 0.750 G8 Yellow Zinc

2 548-01074   Clamp Ins 3/8

2 512-01134   
Bolt Hex Head  
0.250 20nc 0.750 G8 Yellow Zinc

1 954-01580   Harness Ml Boom Lights Led

2 513-01065   Flange Nut Lk M10 1.5 Zinc

4 514-00151   
Washer-flat  
3/4 Sae Yellow Zinc Heavy Duty

4 514-01250   
Washer-flat 7/16 Sae Yellow 
Zinc Heavy Duty

re
v.

 5
/2

3/
20

22



CHASSIS AND GENERAL PARTS  
PRO KITS

BARKO  HYDRAULICS, LLC  |  715-395-6700  |  PARTS@BARKO.COM  |  WWW.BARKO.COM 

535-07737 DRAIN VALVE KIT COMPONENTS

MODELS: ALL MODELS

Quantity Part Number Description

Or Replacement

535-06490 CUMMINS BLOCK HEATER  
KIT COMPONENTS

MODELS: ALL MACHINES WITH CUMMINS ENGINES

Quantity Part Number Description

1 535-06491   Cable, Block Heater

1 535-06492   Block Heater 750w 120v

391-00801 AY COOLER COVER KIT COMPONENTS

MODELS: 295B, 495B, 595B

Quantity Part Number Description

1 391-00795   Painted Cooler Cover Frame

18 514-01439  T Turn Button Base

36 514-01438   Rivet 0.13 X 0.40 Plated

1 391-00802   Cover Kit (rad/cac)

1 391-00796   Painted Cooler Cover Mtg Top

1 391-00797   Painted Cooler Cover Mtg Bot

4 514-01440   Bolt Fb 0.312 18nc 0.750 Z Tcs

re
v.

 5
/2

3/
20

22



CHASSIS AND GENERAL PARTS  
PRO KITS

BARKO  HYDRAULICS, LLC  |  715-395-6700  |  PARTS@BARKO.COM  |  WWW.BARKO.COM 

527-00018 O-RING KIT COMPONENTS

MODELS: 295B, 495B, 595B

Quantity Part Number Description

4 565-00310   O-ring 12fl Buna-n

3 565-00315   O-ring 16fl Buna-n

2 565-00318   O-ring 20fl Buna-n

2 565-00402   O-ring 24fl Buna-n

4 565-00414  O-ring 48fl Buna-n

5 565-01204   O-ring 04mb Buna-n

24 565-01205   O-ring 06mb Buna-n

9 565-01206   O-ring 08mb Buna-n

12 565-01207  O-ring 10mb Buna-n

12 565-01208   O-ring 12mb Buna-n

12 565-01209   O-ring 16mb Buna-n

5 565-01210   O-ring 20mb Buna-n

2 565-01211   O-ring 24mb Buna-n

1 552-01446   Seal Kit-section (k170)

1 552-01444   Seal Kit-section (l90)

2 565-00786   O-ring - Rf4 Cover Seal

603-01712 AY FILL PUMP ELEC KIT COMPONENTS

MODELS: 295B, 495B, 595B

Quantity Part Number Description

1 560-02976   
Hydraulic Transfer  
Pump/motor 12v

1 163-12330   Painted Fill Pump Brkt

4 512-01151  
Bolt Hex Head  
0.312 18nc 1.000 G8 Yellow Zinc

8 514-01240   
Washer-flat 5/16 Uss Yellow 
Zinc Heavy Duty

4 513-01028   
Nt Nylock 0.312 18nc G8 Yellow 
Zinc

1 565-00895   Adaptor 10mb-12mj

1 565-00896   Adapter 12mb-12mj

1 569-00005   Cap 12fj

2 512-00436  
Bolt Hex Head  
0.500 13nc 0.750 G8 Yellow Zinc

2 514-00218   
Washer-flat  
1/2 Uss Yellow Zinc Heavy Duty

1 569-00106   Adaptor Bulkhead 16mj-16mj

1 662-09727   12-387-16fjx-12fjx-27

re
v.

 5
/2

3/
20

22


